o0O0OoonooOog #1304

o000 s5.13 z=¢UO0OOO0OO0OOO0O0OO0x=«00000000000000CO0OO

00 f(2) D z=e0000000000000

fla+h) = f(a)

e(h) = A

- f'(a)
00000 lime(h)=0000000000000
fla+h) = f(a)+ f'(a)h+e(h)h
000 z=a+h0000
lim f(z) = lim f(a+h) = lim {f(a) + f'(a)h+e(h)h} = f(a)

00000 f(x)D z=e¢0000000

gbdds.14 0OO00OO0O0DOOOOOOOO0ODOOObOOOO
T

(1) flo) =2 (2) f(a) =2

(3) f(z) =2 +z+1 4) f(z) =a

() f(z) = * (6) (@) =

(1)

;o (x+h)—z . L _
@ = fm - = fim g = lim1=1
(2)
(z®) = lim W = lim a® + 3a%h + 3}::h2 +h3 — 28
~ lim h(3z2 + 3zh + h?)

N H 2 21 _ 2
Jim ; = lim {32% 4 3zh + h*} = 3z

(3)

(x+h)?+(x+h)+1—(22+z+1)

2 1/ _ 1
@ +etl) = lim 7

h(2 h+1

S TOLIC e L ) S N SIS RIS G P
h—0 h h—0
(4)
(a) = lim ——% = lim — = lim 0 = 0
h—0 h h—0 h—0



(5)

(x+h)*—at lim xt + 423h + 622h? + 4xh3 + bt — 2t

(z*) = lim

h—0 h h—0 h
43 2 4 2 3
g PUST O ATRTERT) g (408 4 602 4 dah? + 1P
h—0 h h—0
= 473
(6)
1 1
1y vk 2 11
il - lim TR gy _ -
(z) hl—% h h1—>moh r+h T
1l z—(x+h) ) -1

= 1. —_ =
o h (x + h)z ) (x + h)x

1

x2

ooo0o *5.15 00 5.14,5.15000000

00000 51400000000000000000000M00 ¢@)0e(z)000

fe+h) = f(z) = qx)h +e(h)h

00000000 lime(h)=0000000 f(x)000000000f/(z)=q(z)000000
—

00 f(zx)00D000000 e(a) = f(x+h});f(x) — f(z)00000

f@+h) = f(z) = f'(x)h+e(h)h
0000 lime(h)=0000000
y=f(z),z=¢(y)DOOO0ODOOO
fle+h)—fx) = fl@)h+e(h)h
9y +k)—g(y) 9' Wk + ea(k)k

00000 lime (k) =00limey(k) =000000000f(z+h)—f(z)=k0000 limk=0
h—0 k—0 h—0
ooon

gof(x+h)—goflz) = g(flz+h)—g(f(z))
= g(f(x) + k) —g(f(2))
= Yk +e(k)k
= W (flx+h)— f(x)) +ea(k)(fx +h) - fx))
= ¢ W) (f (@)h+ei(h)h) +ea(k)(f'(z)h +e1(h)h)
¥)



e(h) = g'(y)e1(h) +ea(k) f'(x) + e2(k)er(h) OO DO
go f(x+h)—go f(x) =g W f (x)h+e(h)h

O0000h—0000 lim k=00 lim &;(h) =00 lim ex(k) =000000
h—0 h—0 h—0

%E)%e(h) =0

00000000000 gof(z)00000000000 ¢'(y)f'(x)0000000

de _dzdy
de  dy dx

oooooon
0000 51500000000 f0 f0000 1000000000000 OOOOOO

d
f‘lof(x):xDDDDd—leElDDDDD 5140000000
T

_dvdy

1= 2
dy dx

oooooooo
dx 1

dy  dy

dzx
oooo

0000516 0000000000 (@") =ne”'00000000000000000O

n=10000000000

h— h
@) = o/ =1m 27 "% i 2 gim1=1=120 = 1211
h—0 h h—0 h h—0

O00n=10000000000
n=k0000000000000 (%) =k*"'000000000000O0O0OOOOD0O

(IkJrl)/ _ (xk .x)/ _ (xk)lx+zkx/
= kPl + 2P 1=kat +2F

(k+ 1):10’“'1_1

O00n=k+100000000000000000O00ODOOOOOORDOOOOOO

o000 s5.17 0O0O0O0OO0OOO0OODOOOODOO

x—1 241 1
1 = 2 = 3 =
Wy=-""" @y="5" (3)y




(1)

r—1Y 1 1Y
A _ 71/ ~1
y <x+1) (x )<$+1)+(x )<x—|—1>
B 1 ) -1 2
e+l @+1)?2) @rip
(2) (1)0DODOO0O0OODO0OO0O0O —a¥+1—fﬁ_1+2—1+ 2 _poooo
y_xQ—l_ 2—-1 2 -1
2 ! —4x
[ 1 =
o= (i) s
0000000000
(3)
;o 1\ -2
Y 7 \e2r1) T @2

0000 5.18 0000000000 DOO0ODOO0ODODOOODOOOOOOOO0ODOO0O0OO0
in h h_q
lim S =1 lime -1
h—0 h—0
i _ ol
PR (2)y_3:2+1
3) y = cos 2z 1) y=loga
(
(1)
(1'3)/ = lim M — lim z? + 32%h + 3xh? + h3 — 3
= h—0 h _h—>0 A
h(322 4+ 3xh + h2
= }113% (3z +hx + ):%%(3952—#3%—%/12):3352

(2)

x+1

o

_othtl
z+h)?+1

r+1
z2 41

)~ (&)

/
<$2+1> h—0

lim

h

Lt ht D +1) = (@4 D@+ h)? +1)

h—0 h
h(—22 —

((+m2+ D2 +1)
2r+1—xh—h)

m
h—0

h((z + h)2 +1)(22 + 1)

A (@ + )2

+1)(z2+1) (22 +1)2



(3)

(cos 235)/ =

oooobooon

oono

oooo

oo

0ooo
(4)

. cos2(x+ h) — cos2x . c0s 2z cos 2h — sin 2z sin 2h — cos 2z
lim = lim
h—0 h h—0 h
lim {cos wa — sin 2z sin 2k }
h—0 h
2h —1 in 2h
cos 2z lim cosshm sin 2z lim St
h—0 h—0
cos2h—1  (cos2h —1)(cos2h+1)  —sin®2h
h N h(cos2h + 1) ~ h(cos2h +1)
i cos2h — 1 . —sin® 2h
m— = lim-————-
h—0 h h—0 h(cos2h + 1)
. sin2h  sin2h
= —1lim?2
h—0 2h  cos2h+1
9211 sin2h . sin 2h
= —2lim im
h—0 2h h—0 cos2h +1
= -2.1-0=0
in 2h 2h 2h
im 2RE i 9 2R g gy BRER gy =
h—0 h—0 2h h—0 h
( cos Qw)/ = —2sin 2z
1 h)—1
(log x)/ = lim og(e + h) — log

h—0 h

00000000 k=log(x+h)—logza0000 h— 0000 k—00000

gbggbooboobboaoboan

h
log(x 4+ h) — logz = log T
x
h
:kDDek:x—’_ oboooooD AOOOOCODO
x
h=x(ed —1)
¢ . log(x+h)—logz . k
(logz)” = }ILILI}J h _IPE}J z(ek — 1)

1 k 1




0000 5.19 000000000000 (OOO0OoOoOooOo)o

() y=a®+3c+2 (2) y = 3sinz + 2€”
(3) y = we* (4) y = sin'% 2z
(5) y = 2 log(22® + x) (6) y = arcsin(z? + 1)
(9) y=e€"sinz (10) y = 27
(1)
(x2+3:c+2)/ = 2243

(2)

(SSinx + 26””)/ = 3cosx + 2
(3)

/
(xe”’) = % +xe”
(4)
(sin100 2:0), = 200sin” 2z - cos 2z
(5)
2
1
(& log(2e® + ) = 3a%log(20” +) + 55 S L
(6)
2z
arcsin(z2 + 1)) = —
( ( )) 1— (22 +1)?
(7)
(2 +2)(2? +3)) = (@2 +2) (2% +3) + (2° +2)(«® + 3)’
= 2x(2® 4+ 3) + 2z(2? +2) = 22(22° + 5)

(8)

(sin(3z +1)) = 3cos(3z +1)
(9)

(e“’ sin x)/ = e¥sinx + e cosx

(10) 000000000

logy = logz® = zlogx

ooboobo 000000



dy 1

1
=logz+z— =logz+1
dr vy x

gbooogogn
(xm)/ =z"(logz + 1)

oood

ooodg s5.20 0O0O0O0OO

1
y=loglz| (x£0)0000 y’:;

z>00000000000000
1
(logx)/:—
x

oooooo
r<00000|z|=—-20000uvw=—-20000000000000000

dlog(—x) _ dlogu du
dx  du  dx

(log|x|)/ =

ooogoogao
oooooon

ooo0og 5.21 ooooo

1 /
{x arctan x — 5 log(z? + 1)} = arctanz

!
t = t _—
(zarctan z) arctanz + -——
1 ' x
—1 241 = —
<2 og(xz” + )) oY

gbogobgooan

gbdg s.22 gOobOodbOoaboodaoodgoooobooo



(352 + 2)2

(1) e ey

1) y=2"*00000000000logy =loga®™® =sinzrlogz 000000000 200

ooon
1 dy .1
—%:cosxlogxqtsmx;
Y
oo
d ; 1
% = gone <cosmlogm —&—sinxz)
gooooo
2 22
(2) y= MDDDDDDDDDDD
x
(22 + 2)2 (22 +2)? 3
1 = 1 R A | BSad ey
o8y BV @235 T B\ (@243

(22 +2)?

o = 3 loste? + 27 —lon(e? +37')

log

| = |-

1 3
-2log(x? +2) — 5 3log(x? + 3) = log(z? +2) — B log(z? + 3)

gboodgboodbodg«000oad

1dy w3
y dv a2+ 2 22243
ogdn
dy (2% +2)? 2r 3 2w
de (x2+3)3 \ 2242 2 2243
2z 3z(z? +2)

(22 +3)Va2+3 (22 +3)2Va? +3

gboooog



